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NAZWISKO Imie

Nr albumu Ocena z ¢wiczen projektowych
ocena ocena Ocena z egzaminu po ustnym
zadania 1 zadania 2
Ocena laczna, data, podpis
Zadanie 1.

Dany jest zbiornik walcowy.
Znalez¢ wykresy

momentéw zginajagcych M, , M»
w powloce 1 plycie dennej.
Obliczenia podatnos$ci

wykona¢ przy zatozeniu ,

ze zbiornik jest diugi.

Zadanie 2.
Znalez¢ site krytyczng P
(przytozong w érodku ciezkosci SC

wyboczenia gietno-skretnego preta cienkosciennego
o danym przekroju, podpartego widetkowo,
o dtugosci /=3.0 m. Dane dotyczgce przekroju:

przekroju)

A=T2cm’ s
Jy=14904cm’ i
Jz=1296cm’ o
Jo=165888cm’
Is=24cm*
e ddem 12¢m ‘[
N 45 |
1lem 15cm
P o]
SC
210m§
Gem | 6em
grubese g=1cm ’

Pozostale charakterystyki wyznaczy¢ samodzielnie.




Exam on the Mechanics of Structures
3.02.2016

PROBLEM #1

Consider a cylindrical shell with top annular and bottom circular plates and loaded by
a uniform loading p applied to a cylinder wall.

Assume that the shell is long.

Calculate the bending moments M;, M, in a cylinder.
See front page for shell dimensions.

PROBLEM #2
Consider a thin-walled beam of length | =3.0m, fork-supported and loaded by a force P

applied at cross-section’s centroid SC .

Calculate the value of the force P critical for flexural-torsional buckling.

See front page for cross-section dimensions and geometrical characteristics A, Jy,J;,Jw,Js .
Assume the thickness of a section g =1cm.
Calculate the remaining characteristics, if necessary.
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Grzegorz
Pływające pole tekstowe


dek | £ (0)]= (@)=(2-R))- Wy (P) = () (-t ) (0-R0) (PP ) (1$2)

Wo(P) = (1-B2)P* — (RstR)P + PsPz
?1}P2_ — [)'iaeraSW wielomlauw Wy (P) /'m;”r& ot
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Pz'{‘?g - W
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A= (Potp)E — 4(1-p2) P2
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